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Question 1

The economic and technological dependence of former colonial societies, when supplanted by vast multinational corporations, is known as
A) paternalism.

B) classicism.

C) colonialism.

D) neocolonialism.

E) liberalism.

Answer: https://biology-forums.com/index.php?topic=728881

Question 2

While sociologists attempt to conduct scientific research, most find it impossible to carry out this research in a neutral, unbiased manner, and thus
seldom try to do so.
Answer: https://biology-forums.com/index.php?topic=728100

Question 3

There has never been an incidence of genocide in Canada.
Is this statement true or false?
Answer: https://biology-forums.com/index.php?topic=728694

Question 4

theory emphasizes that crowd members may propose various courses of action, and while some of these will be ignored, others will be
accepted.
A) Value-added
B) Emergent-norm
C) Convergence
D) Contagion
E) Circular reaction
Answer: https://biology-forums.com/index.php?topic=728952

Question 5

If you were a symbolic interactionist, which of the following items would you believe an important topic of
study?

A) Whether the bourgeoisie of the proletariat will eventually prevail.

B) The division of the social classes.

C) Determining how many social classes there are in the society.

D) The use and meaning of status symbols in a society.

E) The differences in property, power and prestige among the various social classes.

Answer: https://biology-forums.com/index.php?topic=728876

Question 6

You have conducted your research, and wish to state that your findings show that the independent variable caused the change in the dependent
variable. Which of the following conditions would prevent you from being able to do so?

A) There is not a clear and logical link between the independent and dependent variables, but the correlation is obvious; therefore, you have
demonstrated cause and effect.

B) The independent and dependent variables are linked in a patterned way so that changes in the dependent variable corresponds to changes in the
independent variable.

C) You used an experimental group and a control group.

D) Variables other than the independent and dependent variables have been controlled for; that is, they cannot explain the correlation.
E) The cause (independent variable) precedes the effect (dependent variable) in time.
Answer: https://biology-forums.com/index.php?topic=728017

Question 7

What is the term for the values, customs, material objects and symbols that constitute a people's way of life?
A) Social system.

B) Social structure.

C) Culture.

D) Society.

E) Collectivity.
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|Answer: https://biology-forums.com/index.php?topic=728179

Question 8

Which of the following is not a characteristic of the less developed countries?
A) High levels of illiteracy and unemployment.

B) Per-capita incomes that are at or below the poverty level.

C) Agricultural economies that are successful in their food production.

D) Economies predominantly based on the export of raw materials.

E) Serious overpopulation problems.

Answer: https://biology-forums.com/index.php?topic=729014

Question 9

According to symbolic interactionists, people do not respond directly to the world around them, but rather to the meaning they apply to various aspects
of empirical reality.
Answer: https://biology-forums.com/index.php?topic=727913

Question 10

All homosexuals are males.
Answer: https://biology-forums.com/index.php?topic=728491

Question 11

Sociologists have consistently found that as social class decreases, the rate of mental iliness tends to increase.
Is this statement true or false?
Answer: https://biology-forums.com/index.php?topic=728833

Question 12

The concept that different cultural groups exist side by side within the same culture and the belief that the heritage of each should be understood,
promoted, and respected defines:

A) ethnicity.

B) globalism.

C) multiculturalism.

D) socialization.

E) intersectionality.

Answer: https://biology-forums.com/index.php?topic=727744

Question 13

A sociologist is conducting research at a particular school that has 5000 students registered. From all the students, the researcher selects 200
students to interview. This group of 200 students is

A) unlucky.

B) the sample.

C) biased.

D) reliable.

E) the population.

Answer: https://biology-forums.com/index.php?topic=728001

Question 14

A researcher wishes to measure how much television college students watch. What would be a good operational definition of this variable?
A) How many classes the student is taking.

B) The number of hours of television watched in one week.

C) The student's favourite television program.

D) The number of televisions in the home.

E) Whether or not satellite service is available.

Answer: https://biology-forums.com/index.php?topic=727987

Question 15

Functionalism assumes that religion is manipulated to serve prevailing economic or political interests.
Answer: https://biology-forums.com/index.php?topic=728572

Question 16

Page 2 of 3



Core Concepts in Sociology, Canadian Edition - 1082 Total Questions - Biology-Forums.com

Which of the following is a reason why traditional indigenous cultures are disappearing?
A) Forced migration.

B) Starvation.

C) Coercion through war.

D) A peaceful process of gradual but accelerating cultural change.

E) The inability of indigenous cultures to continue to survive on their land.

Answer: https://biology-forums.com/index.php?topic=728228

Question 17

The aim of qualitative analysis is a complete, detailed description and is recommended during earlier phases of research projects.
Answer: https://biology-forums.com/index.php?topic=728173

Question 18

Drug and/or alcohol use is the number one social factor associated with ill health.
Is this statement true or false?
Answer: https://biology-forums.com/index.php?topic=728943

Question 19

Peer groups are characterized by the diversity of age and interests of their members.
Answer: https://biology-forums.com/index.php?topic=728387

Question 20

Peter has a sexual preference for the male sex. What does his preference reflect?
A) Homosexuality.

B) Heterosexuality.

C) Bisexuality.

D) Asexuality.

E) Transsexuality.

Answer: https://biology-forums.com/index.php?topic=728429
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